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72 30

ëéSUS]^ ë\VÑ^Ëà ÍÒ ÍÝ ÍÒ
−

âÓ
108 63

ëéÙÏS] ëéSUËâ ØÒ ØÒ
−

ØÒ ØÒ
5 2

c^æVÏ[Ñ ` ^UßËá Øà ËÌ Øà
−

ËÌ
8 −50

Yo^V] Ð íÑ[Ëç ØÓà Òà
−

Ø ËÌà Ì
126 35

Z^Õ^ÑS] ê^\VU[ãËÝ Ò ØÓ Ò
−

ØÓ
4 13

Z[UVVÑßS ê\^T[Û[UÒÌ Ë Ë
−

ØÓ Ó
3 15

Z[U[\\S] ë]éVÑ[ãÒË Ì Ì
−

ØÒ Ë
1 6

Z[oV\V] `[Î^[\ÒÒ ØÝ Øâ ØÝ
−

Ì
8 12

ZSÕîV]^ ZoVÑ[×ÒÓ ØÓ â ØÓ
−

â
5 −30

ZSÑT[Ñ X\Vßo^ÑTUÒÍ Ë Ë
−

Ì Ò
2 8

ZSUÖ^é[Ñ Y]^ÑÒà ç Ø ËË ç
−

Ø ËË
4 11

ZÙÖÙÕVU[× e ^ï^Òâ Ë Ë
−

Ë Ë
2 0

eSé][ÑVÑßS ê^\VÑä[Ñ^Òá ØÒ Í Ë
−

Í
4 −10

eSé][ÑS] bVTSUÒç ËÒ à ËÒ
−

ØÝ
36 −29

`^æßS ZoVÑ[×ÒÝ Óà ÍÒ Óà
−

àâ
80 56

`S[oVV]^ XÑ^oä^o[×ÓÌ ØÒ ØÒ
−

ØÒ ØÒ
5 0

`Ùo^Ñ^Õ[V] ` ^éSÛVTÓ Ë ØÒ ØÒ
−

ØÒ ØÒ
7 −8

`ÙÎ^ÑS] ê\^T[o\^]ÓÒ ØÒÍ Ì Øç
−

Ì
45 −32

å[ßÙ\[Ñ^ X\[Ñ^ÓÓ ØÓÌ ØÓÌ ØÒá
−

ØÓÓ
110 −36 ð\ÞÛVîS] ðÛ^UÓÍ Ì Í Ì

−
Í

3 −8 ðU^\ÕVßS] Z[U[\\Óà Ì Ì
−

ØÒ Ë
1 4 ðÎ\SÏßS]^ c[Ñ^[T^Óâ Ø Ë Ø Ë ØÒ

−
Ì

2 25
R^\^é[æß[ã ÚVUéVãÓá ç Øç ç

−
Øç

5 64
RVUVÎ]^äS] XÑTUVãÓç Ø Ëà Íà Òà

−
Íà

36 −35
R[ÎVÑÞßS XÑÑ^ÓÝ Ë Ë

−
Ì Ò

2 4
RS\Þï[ßS] X\Vßo^ÑTUÍÌ Ø Ë Ø Ë

−
ØÓ Ì

3 5
RUSÑ[Ñ ÚVUéVãÍ Ë ØÓ ØÓ

−
Ì Øâ

10 −18 ñSo\×ßS] ìVSUé[ãÍÒ Ì Ø Ë Ì
−

Ø Ë
1 5

Ú[U[ß ë\[î^]Vä^ÍÓ Ë Ë
−

ØÓ Ó
3 6

ÚS\S]ÞÜ] X\VßoVãÍÍ Ì ØÒ Ì
−

ØÒ
3 2

ÚäUV\ßS] ê\^T[o\^]Íà Ø Ë Ø Ë
−

Ø Ë Ø Ë
2 2

ÚÙßSÑß[Ñ ê\^T[o\^]Íâ Ò Ò
−

Ì Ó
3 14

d[ÎS] ÚVÛVÑÍá ØÍ à ØÍ
−

à
3 20

dUÙÎ^ÑS] XÑTUVãÍç ØÒÌ Ëà
−

ØâÌ Ì
84 20 òUÛ^Ñ å[ß[ä^ÍÝ Ì ØÒ Ì

−
ØÒ

1 6
bSUä^\ÞÑS] ÚäVÏ^ÑàÌ Ë Ë

−
ØÓ Ó

3 12 óÙoÑ[×US] X\ÞÕVUäàË Ì ØÓ ØÒ
−

ØÓ
2 5 ô^UÖV][Ö Ð VÑ[oàÒ Øà Ò

−
Ø Ëà Ì

21 25 ôÛ^ßSä[Ñ XUäÙUàÓ ØÒË ØÒÌ ØÒË
−

Ø Ëç
84 4 ôÙÛ[\S] X\VßoVãàÍ Ø Ë Ø Ë

−
ØÓ Ì

3 5
å^éSUÑ^× ` W
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